Mﬁ% F& TR si%hx ) F/o wmimmsnsnsss
FE rabts [

e shoy £ 4 T | OH
¢60 |

BEE (FE25 7)) @ StOERPELR IR —E - SRS -

1. When Adam Smith said that economic activity was directed by an “invisible hand”, he meant that

{a) invisible forces will lead to economic chaos unless wise ceniral planning directs economic activity.

{d) divine providence is the uitimate rler of an economy.

{c) scarcity is largely the resuli of invisible forces that can be eliminated once individuals are free to pursue
tieir own self-Interest,

(d) competitive markets motivate even selfiinterested individuals to pursue pruduchvﬂ activities that also
serve the public interest.

2. An increase in the supply of cellular phones reduces their price by 20%. If the elasticity of demand for
cellular phone is 2 and the elasticity of supply is 1, how much do sales of cellular phones increase?

(a) 20%.

(b) 30%.

(c) 40%.

(d) 50%.

3. If an economist states that the cost of commuting by bus for a rich man is higher than for a poor man, we
woukd infer the economist was talking about the notion of

{(a)the invisible hand.

() opportunity cost.

{¢)the law of dimninishing retwmns,

(d) the principle of comparative advantage.

4, If the imposition of maximum legal price doesn’t create deadweight social loss, we can conclude that
{a) supply is perfectly elastic.

(b) the maximum legal price is above the market clearing price.

(c) demand is perfectly elastic.

(d) a subsidy is aiso put i place.

5. The market price in a perfectly competitive industry in short-run equilibrivsm is 53 and the minimum average
cost for all irms is $2.50. In the long run, we would expect an increase in

(a) each firm’s ouedtput.

{B) the mumber of firms.

(c) each firm’s profit.

(d) each firm’s average cost.

6. In the long rem, in & competitive market, the price of a good is determined primariiy by the
(2) per-unit costs of production.
(b) decision of buyers about how much they are willing to pay.
{c) elasticity of supply of the good.
{d) elasticity of demand for the good.

7. Aceording to new classical macroeconomics, interest rates have a significant impact on saving rate and work
inceniives becanse of
(a) the interest sensitivity of expensive leisure activities,
(b)the high wealth elasticiiy of leisure activiiies.
{c) intertemporal substitution,
{d) Ricardian equivalence.
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8. Assume that a proportional tax is levied on the eamings from the work of a person and that leisure is 2
normal good. thhnfthefoﬂﬂwmghestdcsmbﬁtheunpamafthmtﬁuuthﬁpmnswnrkhum?
{(a) The substitution effect fends to increase work hours.

{b) The income effect tends to increase work hours.

{c) The substittion and income effects tend to decrease work hours.

{d) The substitution effect tends to increase work hours, whereas the income effect tends to decrease work
hours so that the net affect 15 uncertain

9. An economically efficient court decision about an injury suffered by someone using a produoct
(a) makes the producer pay compensation equal 1o the damage suffered by the user.
(b} makes the producer pay no compensation, but warns the producer to make the product safer.
(c) makes the producer pay compensation to. maximize the consumer surplus.
(d) provides incentives such that the marginal social cost of additional precautions taken by the users equals
the marginal social benefits of those precautions in reducing accidents.

lﬂ In which of the following ways is a monopolist different from a perfect competitor?
(a) Avﬂ:mge cost will continually drop as output expands,
{b) Price is above marginal cost.
{c) The demand curve for the industry has a negafive slope.
{d) All of the above are true.

11. Rent seeking occurs when
(a) there is a tendency toward clustering of tall office and industrial buildings.
(b} monopolistic firms eamn economic profits.
{¢) cartel arrangements are formed among a few leading firms.
(d) special monopoly privileges are sought from government.

12. Property rights can promote conservation of scarce resources by
(a) establishing a government agency to oversee public use of the resources.
(b) identify the individual who will be liable fir misuse of the resource,
(c} granting someone ownership rights and incentives fo care for the resource.
{d)restricting the ownet’s ability to sell the resource to others.

13. The hypothesis of rational expectations implies that
(2) involuntary unemployment cannot exist.
(b) unanticipated monetary policy actions cannot affect real output.
(c) expectations must be correct in stochastic models.
(d} expectational errors are unsystetnatic.

14. The Amow impossibility theorem suggests that
(a) it is impossible to elect a dictator under the democratic systern.
(b) one cannot combine individual preferences, expressed by voting, into a consistent set of preferences for
society as a whole.
(c) the median voler determines the outcome of a vote.
{d) a politician can never be elected unless she takes middle-of ~the road positions.

15. 1n an economy that has zero net exports, equilibrivm investment is equal to
(a) the government deficit.
(b)equilibrivm savings.
() equilibriumn savings plus the government deficit.
(d) equilibrium savings minus government deficit.

16. As an economy {without technical progress) approaches its steady staie,
{a) increasing returns to capital occar.
(b) economic growth increases.
(¢} equilibrium investment rises.
{d)the rate of interest decreases,
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17. If real GDP grows at a rate of 3%, velocity is constant, and the money supply is growing at a raie of 6%, the
equilibrium rate of inflation is
{(a) 3%.
(b) 6%.
(o) W%
(d) i8%.

18. Which of the following will increase both the price level and real outpui in the short ron?
(2) Ar increase in the money supply.
(b) An increase in oil price.
(c) A decrease in the money supply.
(d) Technical progress.

19, If the Central Bank wants an expansionary monetary policy, it could
(&) reduce interest rates on savings and time deposits.
(b) reduce discount rate.
(¢) sell government securities.
(d) atl of the above.

20. With a fixed exchange rate system, if a country increases its money supply too slowty,
(&) a balance of payments surplus will ensure and the money supply will have to be reduced even more.
(b) a kalance of payments surplus will ensure and the money supply will have o be increased.
(¢) a balance of payments deficit will ensure and the money supply will have to be reduced even more.
(d)a balance of payments deficit will ensure and the money supply will have to be increased.
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